o=y {‘ "ﬁ‘ ﬁ i Gidi phuong trinh khéi

Tén: Ngay thang: Piém:
X+ 10x% +17x+8=0 6x° + 89x% + 266x — 441 = 0

X+ 27 —63x =0 X =6 —Tx=0

X =¥ -30x=0 ¥ —6x% — 64x+ 384 =0

X — 6> —31x+36=0 X+ 10x° +8x— 64 =0

2% =32 —8x+12=0 X+ 7 +10x=0
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o=y (‘ "ﬁ‘ ﬁ i Gidi phuong trinh khéi

Tén: Ngay thang: Diém:
410+ 17x+8=0 6x° + 89x2 + 266x — 441 = 0
x=-1,-8,-1 x="1 79
6
X +2¢ —63x=0 X —6F—Tx=0
x=-9,7.0 x=-1,7.0
X =¥ —30x=0 X —6x" —64x+ 384 =0
x=6,-5,0 x=8,-8.6
X —6x>—31x+36=0 X+ 10 +8x—64=0
x=1,-4,9 x=—4,2-8
260 =32 —8x+ 12=0 X+ 7¢+10x=0
3 e
x:—,2,—2 X 5) 270
2
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